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		*Use the DNA diagram on the back of this paper if you need a guide.

7) Once your model is complete, make a pocket in your notebook by following the example in the teacher’s notebook. Keep your model in this pocket.

8) Answer the 4 questions and glue them in your notebook on the same page as the pocket for the model.

[image: ]9) After completing the model and questions, each person needs to get 2 pieces of licorice, 7 toothpicks and enough marshmallows to create a DNA double helix with the following base pair order on one side:  A G C G T T A and the matching base pair on the other.

	Use the following color code 
for the marshmallows: 
	
Adenine: Yellow			
	Guanine: Orange	
	Thymine: Green
	Cytosine: Pink



DNA Model 
1. When making the DNA model, what did you notice about the orientation of the two strands?

2. What would be the base pair order of the strand that bonds with the strand below:
T G G A C C A T A G C

3. Would you expect the DNA of a Salmon to be more similar to the DNA of a goldfish or a bear? Why?


4. How would the DNA of a butterfly be different than the butterfly of a human?
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1) Colour the individual structures on the worksheet as follows:

adenine = red thymine = green
guanine = blue cytosine = yellow
phosphate = brown deoxyribose = purple

2) Cut out each structure.

3) Using the small symbols (squares, circles and stars) on the structures as guides,
line up the bases, phosphates and sugars.

4) Glue the appropriate pairs together to form nucleotides.

5) Construct the right side of your DNA molecule by putting together in sequence a
cytosine, thymine, guanine and adenine nucleotide.

6) Complete the left side of the DNA ladder by adding complementary nucleotides or
nucleotides that fit. Your finished model should resemble a ladder.
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